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7oA ok R E_jE_ kaggle # #k#RP~T % &0 Chest X-Ray (Pneumonia,Covid-
19, Tuberculosis) 7 #1 & » # z Normal ~ Covid19 ~ Pneumonia(** ‘) ~ Tuberculosis(.%
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1.COVIDI19: £ 5 558 3k
2.Normal : + 3 1530 3

3. Pneumonia : £ 7 1257 3
4. Tuberculosis : + 3 586 3
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#Fl4E. HAE.

#train
def moveFile(fileDir):
pathDir = os. listdir(fileDir) #H @ F AR IR R E
filenumber=len(pathDir)
rate=0. 8 +B ERMEE AT
picknumber=int (filenumber*rate)
sample = random. sample (pathDir, plcknumber)

print (sample)
for name in sample:
shutil. move (fileDir+name, tarDir+name)

[“COVID19”, “"NORMAL”, “PNEUMONIA”, “TURBERCULOSIS"]
[“covidl9”, “normal”, “pneumonia”, “turberculosis”]
if __name_ == '_ main_’
for i in range(4):
fileDir = “/content/drive/MyDrive/chest x ray/{}/” . format(NAME[i])

tarDir = °/content/drive/MyDrive/chest_x ray

train/{} /. format (name[i])

moveFile(fileDir)
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name = [“covidl9”, normal”, “pneumonia”, “turberculosis”]
for i in range(4):
train_path = “/content/drive/MyDrive/chest x ray/train/{}” .format (name[ill)

read = os.listdir(train_ path)
num = len(read)
print (num)
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#H¥covidl9

p = Augmentor.Pipeline(”/content/drive/MyDrive/chest x ray/train/covidl9”, “/content/drive/MyDrive/chest x ray/new’, save_format="PNG")
p. rotate90 (probability=0. 5)

p. rotate (probability=0. 5, max_left_rotation=25, max_right_rotation=10)

p. sample (938)

#¥#pneumonia
p = Augmentor.Pipeline(”/content/drive/MyDrive/chest_x_ray/train/pneumenia”, [/content/drive/MyDrive/chest_x_ray/new”, save_format="PNG")

p. rotate90 (probability=0. 5)
p. rotate (probability=0. 5, max_left_rotation=25, max_right_rotation=10)
p. sample (300)

#3718 turberculosis

p = Augmentor.Pipeline(”/content/drive/MyDrive/chest x_ray/train/turberculosis”, “/content/drive/MyDrive/chest x rav/new”, save_format="PNG")
p. rotated0 (probability=0. 5)

p. rotate (probability=0. 5, max_left_rotation=25, max_right_rotation=10)

p. sample (940)
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name = [“covidl9”, "normal”, “pneumonia”, “turberculosis”]

for i in range(4):
train_path = “/content/drive/MyDrive/chest_x ray/train/{}” . format(namelill)
read = os.listdir(train path)
num = len(read)

print (num)
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path_train = “/content/drive/MyDrive/chest x rav/train/train”

path val = “foontent/drive/MyDrives/chest x rav/wal/ wal”
path_test = “focontent/drive/MyDrive/chest = rav/testitest”
data_gen = ImageDataGenerator(rescale=1./255)

training_set = data_gen.flow from_directoryi(path_train,

clasz_mode=" categorical’,
shuffle=True,
target_size=(224, 224,
batch_szize=fd,

)

wval_szet = data_gen.flow from_directorv(path_wal.
class mode=" categorical’,
shuffle=True,
target_size=(224, 224),
batch size=idd,
)]

testing set = data gen. flow from directory({path test,
class_mode=" categorical’,
zshuffle=True,
target size=(224,224),
batch_szize=fd,
)

training_zet.claz=z_indices

Found 1595 images belonging to 4 claszzes.
Found 752 images belonging to 4 clasz=zes.
Found 752 images belonging to 4 clazzes.
{cowidl® : 0, "normal’: 1, “pneumonia’: 2, "turberculeosziz’: 3}
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DenseNet 2 % % Densely Connected Convolutional Networke ¢ 3% % i Dense
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3.2 #3'R

AT Y % Densenetl2] % i {7 73] > keras @ 2= densenet 7 1§ H-3]
A 4ok R Y B 5 Adam~F ¥ 5 0.001 ~dropout % 0.4~loss = binary crossentropy:

#lensenetl2l
from tensorflow. keras.applicaticns import DenseNetlZl
def get_model():
densenet = DenseNetl12l (weights=" imagenet’,
include_top=False,
input_shape=(224, 224, 3)
)
nodel = +tf.keras.medels. Sequential {[densenet,
GlobaldveragePooling2D (),
Dense(512, activation=" tanh’ ),
Batchliormalization(},
Dropout (0. 47,
Densef4, activation="sigmoid )
I
nodel. compile(optinizer=Adam (1r=0. 0001,
loss="binary_crossentropy ,
netrics=["accuracy’ ]

)

return  model

model = get_model
nodel. sumnary
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optimizer Learning dropout Activate Train Test
rate function acc acc
1 Adam 0.001 0.3 relu 0.9943 | 0.8231
2 Adam 0.0001 0.4 tanh 0.9992 | 0.8564
3 Adam 0.005 0.5 sigmoid 0.9764 | 0.6609
4 SGD 0.001 0.4 sigmoid 0.9757 | 0.8457
5 SGD 0.0001 0.5 relu 0.7970 | 0.7793
6 SGD 0.005 0.3 tanh 0.9980 | 0.8511
7 Adagrad 0.001 0.5 tanh 0.9940 | 0.8511
8 Adagrad 0.0001 0.3 sigmoid 0.9214 | 0.8231
9 Adagrad 0.005 0.4 relu 0.9995 | 0.8540
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Optimizer: Adagrad
Learning rate: 0.001

Dropout: 0.4
Activate function: tanh
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https://www.commonhealth.com.tw/article/83517

2. Densenet

https://ithelp.ithome.com.tw/articles/10265328
https://medium.com/%ES5%AD%B8%E4%BB%AS5%E5%BB%A3%E6%89%8D/den
se-cnn-%ES%AD%B8%E7%BF%92%E5%BF%83%ES5%BE%97-
%E6%8C%81%E7%BA%8C%E6%9B%B4%E6%96%B0-8cd8c65a613f
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